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4. Jooogogon I

4.1 O0O0OO0O0OOOO0OOOO

2000300000000000000000000Y0000000
0000000000000 00000000

00 nO000000000 n0000000000000O0O0 w000
000000200000

1 1
(1,2), <2> : (1,2,3), <§>

00000 200000002000000030000000300000
godoododooboobouoooobonoooooooboooouon
go0oooodooooboobooooooon
T = <$1> =21, x2), b = (21, 22).
T2
ooo t(*)DDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
000300000300 (3.6)DDDDDDDDDDDDDDDDDDDD

gbobobooobooboobooooooobobobobobom

an

Y1
(w1, 22) ( ) =T1y1 + T2y2, (T1,22,73) (Zn) = T1y1 + XT2Y2 + T3ys.
Y2 Y3

0000000000000000 z-y=txy 0000000000
00 2x23x3)000000000000 200300000000

049000000000000 20000030000000000000
O00000ooo0o000O0ooo0o0o0ooooooooooonD A0

M20150 70 30/70

1)DDDDDavector,DDDDDDD “00007” 00000000000000a matrix, matrices.
gooooooO0oooOoooooOoooooooo

2>DDDDascalar; 0JO00000a row vector; 000 000Oa column vector.

3)DDDtransposition.

4)DDDDDasquare matrix.

an A=) —@a) (w= () e-(02))
_ <a1> (Oél = (a11,1112)>
o2 az = (a21,a22)
000000000 o0o0oo0o0o00 AoDoDOooooooooooooo
O0o0ooooooooooo
EIDI:II]AD(4‘1)DDDDDDDDDDDDDDDDDw,D[IIZIDIZI
f0o00oooooooooooood
Az = <a1m> , §A = (§a1,8ay).
aox
0000000000 AQO BOOODOOOOoOoOoOooOoo
an=(zpoaw) (4= (2) B=oub).
Oo000ob00o0oooooboooboooobooooboooboooobooon
oooooooooooboooouoooooooa
200000 AOOOO

(4.2) AA ' =AA=F Oa_G S)

00000000 A-'00000000AO0O0O0ODODOOOOODOA!
0 AD0D00ODO0ODO0DO0ODO FO200000000000000000
0%00002000000 202000000 ¢,200000 AODOOO

(4.3) Ex=x, (E=¢ EA=AE=A
0 (41)000 A0OOO
(44) det A := a11a22 — A12021

O00D000O0detAD ADODDOOOO Y000 AODDOODOOOO
0000000 detA#0000000000A4°'0000000000O

1 Qg2  —ai2
4. A7l = .
(4.5) det A ( )

—a21 a1

S\00000a regular matrix; 00 OO the inverse matrix; 0 O 00O the identity matrix.
9000: determinant.
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4.2 000O

000020000 f(r,y) 000000 z="(z,y) 00000 f(z) =
f(z,y) 00000O0O0DOODD00 P00 3.220 (1)000000 P =*a,b)
0000000000 v="(v,0) 0000000 () 000000

fy(t):P+t’u:t(a+’[}1t,b+1}2t).
00 4.1. 00 DCcR?00000000 fO000 P=(a,b)e DO0OO
a ’U:t(’Ul,’Ug)DDDDDDDDDDDDDDDlDDDD
F(t) := f(a+vit, b+ vot) = f(P + tv)
0+=0000000000000000000O0OOOO F(O)O fO

POOODO 00000000000 ®00000000 00000 v0O
oooooooooooofoO pPOO0ODODODODOODOOO

ob 32300000000

00 4.2. 00 DCcR?0000 fO0 P=(e,b)e DO00O0O0OOOOO f

O pOOOODOOODOOOOOO0OO0000000O0O0DODDODODO

(46) (df)p’l) = %(0,, b)Ul + %‘;(a,b)vg (’U — t(vl,’uz)> .

m 000000 0O POOOOOOOOOOOOOOOOOO fOOQCO
[ fe(a,b)\ ¢t
o = () =)
000000000 f0 PODOODOOOOOOOODO 0000000
000000 46)000 «20000

(df)pv = (grad fp) - v
0000000000000 000 grad fp 0000000000 OO0OO
0o0oo0o PO0OO fOOODOOOOOODOODOOOODOO 4400

oO00000000000000000000000000000000000000000000nnon
8)0 0000 the directional derivative.
90000000 the gradient vectord
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43 0000OO0OOOD (DODODOODO)

ooooOoooooooon 323000000000o0000ooooon
oooo

00 4.3 (00000000 Y. 20000 f(ez,y) D0200 20000

r = x(§,m), y=y(&n)
00000o00oooooono Wo20000

F&m) = flz(€mn),y(&n)
00000000000000

SE6m) = S (@€ w6 m) G (€) + B (ol m) (e ) Ge(Eon)
e = Fentem Goen + Zatenven) 2.

00 44. 00000000000430 f(&n) 0000 f(z,y) 000 f
0000 f(¢,» 0000000000000000000000000OO0

DDDDDDDDDDDDDDDDDD(DDDDDDD)DD4.3DDDD
of _ofor ofoy  of _ofor ofoy
o8 Odx d¢ Oy O¢’ on  0xdn  Oyon
O0o00o000oo0ooooobooooooooooono
2= f(z,y) = f(=(&n),y(&n) = f(&n)

godooboooooobouooooa
0: _0s0r 0:0y 0= _0zor 00y
o0& O0x 0t Oy oE’ on  Oxon  Oyon

" R200 R2O000000000 OO DcCcRO000000O00
F:D—-R?’00000000 DOOO (z,y) D000 R2000 F(z,y)
00000000000 0000F(z,y) 0 R2OODDODOODOOO0OO (£,7)
000O0oo ¢ 0 (xy) 000000000 F:R2>D—-R20000

19000000000 the chain rule.
e xiyn: eta. 000000 &, n, ¢ (zeta) 0000000000 (2,9,2) 000000000000
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DCcR2O0000000 200000000000000000
(4.7) F:R*D D3 (z,y) — (&(z,9).n(z,y)) € R

0000020020000 &(z,y), n(z,y) 0 FOOODOO Y0000
0000000000000000000000

E=F(x) (£=(&n), z=(z,y))
0000000000000 F=(¢n):R2>D—R?20 Ck-0 0000
0O¥Woooo ¢ np0 Ck-0 (260000000000000

00 45. 00 DCR?*00 Cc-000 F=(¢,n):D—-R*"0000O

2] o)

ar (ff ff) _ (fx fy)
o 9
% CfTZ Nz Ty

0000002000000 FOODOOOODDOOOD 000 0

m 0000000000000 00 D, U CROOOOOODDOO
F:D—-ROG:U—-R 00000 z=(x,y) eD0O0O0OO Flz)eU
ooooooo

GoF:R*>D>x+— G(F(x)) €R?
00000000 GoF:R2>D—-R?0F0O GOOOOO YW OOOO
00 4.6. JOODDOOF, GOOOO C-0000

d(G o F) = dG dF, ninlnln d(Go F)(z) = dG(F(x)) dF(z)
000000D00000D00000000000
00 DCR?000 000000000000000O0
idp: D3>z v+—idp(x) =x €D

0DO0O0OD0DOD®OoDoDOooo DcR200UCR20000 F:D—

12)DDDamapDDD: components.

¥)gpo000D000000000000000000000 ¢*00000000000000000
0000000 000000000000o0o0o00o0oon

14)0 00 the differentiald 000000 the Jacobian matrix0d 0 000 Jacobi, Carl Gustav Jacob
(1804-1851, D).

15000 the composition.

16)0 00 00¢the identity mapd 000 D 00D0000000000idp 000 id000000000
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UDODOOOGoF=idp, FoG=idy 000000 G:U—-DOOOO
0O000GO FOOOOOOOOG=F-'0o0O0 90

0 4.7. 00
D={(ro)err>0-3 <0<}, U={(y) ek x>0}
goog

F:D>(r,0) — F(r,0) = (rcosf,rsinf) € U,

G:U > (z,y) — G(z,y) = ( 22 4 42, tan ™ %) eD

0000 G=F"Y F=G'000000,(rd)eDOOOO -5<60<3
000 tan 'tanfd=0000 1.60000000r>0000000

ind
GoF(r,0) = G(rcosf,rsinf) = <\/r2 cos2 6 + r2sin? 0, tan ! o )
rcosf
= (r,tan" ' tan®) = (r,0) = idp(r, ).
0006 =tan"(y/r) 000000000000000 -3 <6<%00
Ocosf>00000000x>000000
1 1 1
costan™ L = cos§ = = = =
z V1 +tan® 6 \/l—i-tanztan_l% \/1—1—?;—2
|z x

- \/x2+y2 - \/x2+y2’

=sinf = cosftanf = x y_ y .
/12 +y2 x /12 +y2

oooon FoG(ac,y):F( x2—|—y2,tan71%)z(x,y):idy(x,y). O

1

sintan™

SHES

00 4.8. 0000000 (2,y) 00000470000 (r,0) = G(z,y) O
00000, () 00000000000000000000 (z,y) 000
000 0000 0000000000 90

170000 the inverse map; F~!: the inverse of F/F-inverse;

)0000the polar coordinate system; 0 0 00O 0O O the orthognonal cooridnate system; 0O
000000the Cartesian coordinate system; 00000 : Descartes, René (Renatus Cartesius;
1596-1650).
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047000000(x,y) 000000DOO0OODOOODOOODOOODOO
gooooobooooooboooooooboooooobo

D={(r0)|r>0—r<60<z}, U={(z,y)|ly£0000 z>0}
0000h:U—RO

tan—1 Y (z > 0)
x
h(z,y) = —tan™' 4 2 (@S 0,y>0)
Yy
—tan1Z_T (x£0,y <0)
Y 2
ooo 90
F:D > (r,0) —s F(r,0) = (rcos6,rsinf) € U,
G: U 5 (x,y) — G(z,y) = (\/x2+y hxy) eD

000D F=G™Y,G=F'100000000000 (z,9) 00000
0 (z,y) 00000000

00 4.9. 00 F:R2>D—>UCR2O00O0G=F'0oooorOor!

000 c-ooooo
dF~'=(dF)"" 0000  d(F Y (F(z)) = (dF(z)) "
000000000000 “-1”70 000000000000

00D0000000000000 EDO0O0OOOOOOOOF 'oF =idp OO
046000000 dF'dF = E,00 FoF ' =idy 000 46000000
dFdF~'=E0000DD dF'0dF00000nnn O

m Jggad
0 4.10 (000000000 0O0O0O). 04700000000
(4.8) x = x(r,0) = rcosb, y=1y(r,0) = rsiné.
0000 F: (r,0) — (z,y) 000000 4500
T, X cosf —rsinf
(4.9) ar =" ") = :
Yr Yo sin 6 rcos 6
9p(z,y) 000 (0,0) 00 (z,9) 000000000000 x00000000000000000
0000000000 C O Fortran 1000 atan2(x,y) 0000000000000000
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000000000 G=F"10000000490000000 (4.5)00

(410) dG = r Ty _ (dF),l _ CcOS sin
0. 0, —1sind Lcosd

oobooooood

(4.11) %:cos&%—%sin@%, %zsinQ% 10059%
0000 Cc%000 f(r,y) ODODD

o*f  O*f
(4.12) Az:Af:@—Fa—yQ
000000 AOODOOODOOODODOOODO0ODOO0O0O0O 2.10000
DDf(yc,y)D(4.8)DDDIZI(r,&)DDDDDDDDDDDAfoDr,H
00000000000000000 (411) 00000

0? 2 1 1 2
of = cos? Ofrr — = cosOsinbf g + — sin® 0 fp9 + — sin2 0 fr + — sinfcos b fy
z2 r r2 r r2

2 2 1 1 2
ﬂ:sin29fw+7cosﬁsin0fT9+—cos20f99+7c0320fr——sin@cos@fg
Oy? r r2 r r2
gooobooood

(113) AP=frot fu=Fro b Hfo+ oo O

44 000
00 DcCcR?000000020000 F(z,y) 000000 F(z,y) =0
0Dx0y00000000000 000000700000000000
Flz,y) =0 <  y=o¢().

00000000 F(z,y) = 0000 y =) 00000000000
y=o(x) 000029000000

0 4.11. (1) F(z,y)=22-3y+500000F(z,y) =00 y = £(22+5)

000000000000 x=1438y—-5) 000000

(2) F(z,y)=22>+4*-100000000 F(z,y)=00y 00000

2gp000an implicit function.
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00000000 FO00000 U :={(z,y) eR?|y>0} 0000

(,y) U OO Fz,y)=0 < y=+1-22 (-l<z<1)
O0y0200000000000000007U":={(z,9) eR?|y<
0} 00000000000 y=—v/1-22000000000000
{(z,9)]z>0} 00000 F(z,y) =00 z=+/1-¢200000 ¢

" 00000 000 f(z,y)=00 yO0OOOOO0O0000000000
00000000000000000000

00 4.12 (00000000000). 00 DcR200 ¢k000 F: D —
RO F(zo,90) =000000 (0,%) € DOO0D0D0000F,(zo,50) #0
000000000000POO00O0OO0UCDOOROOODOOO 100
00000 ¢k-00 10000 ¢: I »RO0D0D00000000000

(r,y) eU OO0 Flz,y)=0 <& zel 00 y=p).
0000 zel0000 F(z,e(x))=000000.

0000000DPOOODO0OOF(z,y)=00y 00000000000
0000000000 412000 20 yOOOOOOOOOOOE(P)#0
000 POUOO F(z,y)=00 x00000000000O0OOO

gbooboobobobobobobooobooooon

0 4.13. R® 00000030000 F(a,y,2) := 22 +y>+22-10
C~-000000 P=(0,0,1)0 F(P)=00000000000000
0F(P)=2#£000000000000U = {(z,y,2) € R¥|z > 0}0
Vi={(z,y) eR*|2?+y?* <1} 00000

F(z,y,2) =000 (z,y,2) U= z=+/1-22—4200 (z,y) €V
00000000 F(x,y,2) =00 20000000000 {(z,y,2) €

R3|F(r,y,2)=0} 0 R3O000000000D0 10000000000
;00000000007 0000000000000000 290 ¢

21)DDDasphere;DDDDDDDDDDDDDDDDDDDDDDDD aballJ000OO0OOO0OOOOO
000 the Northern Hemisphere.
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" 0000000 OO0 DcCcR2O0 C®-000 FOOOOOOO C=
{(z,y) € D|F(z,y) =0} 000000 PeCOOODOOPOO00O R20
00 V000000000000 CNUO C*-000000000000
0000CO POOOOOOOOOOO200000000000000

O000000oooO0O0o00oboooO cooooooooooUooooooo

0 4.14. C = {(z,y) €eR?|2?+»? =1} 00000000000 100 %)
00000000000000000000000 PeCO

Up:={(z,y)|y >0}, Uz:={(z,y)|y <0},
U3 = {((E,y)|$>0}, U4 = {(:v,y)|m<0}

00000000000000 j=1,2,3,40000 CNU; 0 C>-000
Vi—22 (-1<z<1)00000000000 &

0041200000000000

00 4.15. 00 D c R2 0000000 C~-000 FOOOO C =
{(z,y) € D|F(x,y) =0} 00000 PeCO (dF)p #(0,00000 CO
0oo0ooooooon

0 4.16. 00 F(z,y) :=2(z* —y?*) — («*+¢y?)? 0000

dF(z.y) = (4x(1—x2—y2),—4y(1—|—x2+y2))

000 dF,,) =(0,0000000 (z,y) = (0,0), (1,0), (-1,0) 00000
0000000 F(4£1,0) #00F(0,0) =00000C = {(z,y) | F(x,y) = 0}
0(,0000000000000000000000000000000O0
0200000000490 ¢=000000 O

m JO00000

00 4.17. 00 4120000 F(z,y) =00 y=(z) 000000000

ubobodobdobaobabd

do@) __OF / T

22)00000000a smooth curve.
2)00a circle; 0000000000 1000the circle centered at the origin with radius 1.
200000000 the lemniscate.



47 (20150724) 040

000000 F(z,e(z))=00000 000000000 323000 430000

_d _oF dz  OF de(x)
0= Pl o@) = 5@ e@) g + 5 o)™
_OF L OF ()
00 4.120000000000000000 F,#40000000000 O
dy  F,

00 4170000000O0DOOODODOO0O0000 —=——.

dx F,
O000F(z,y)=00 2=¢(y) 00000000F, £0000000
By dv _ F,
dy(w_ Fy(z,y) (e=v@) DOBO dy — F
0 [l 4

4-1
4-2

4-4

4-5

004200000000

00000 (2,9) 00000000000 flz,y) =2 +ay+y> 0000
0000000000000 000000000000000000 1000
000000000000 10000000000000000000000
00000000000000000000000000000000000
000000 3.220 (2) 0000

0OP=(a,b) 00000000000 20000 f0POOOOOOO (df)e
0 (0,00000000000000f00 POOOOOOOOOO »000
0000 (df)p(v) 00000000 v 0O (grad;)p 00000000000
00000000000000000000000000000000000
O P=(,0b)0000000000020000 f0 POODOOOOO
(df)yp O (0,0) 00000000 POODO fO00000 ()= (x(t),y(t))
(v(0)=P)0000000000000¢t=00000 0000000 4(0)
O (grad f)p 0000000000000 0O00000“000000000
ooooooro

00 ¢ (#£0) 0000 E=z+ct,n=2—ct 0000000 (¢,z)— (&n)
0000000000C?000 f(t,z) 0000

OPf 20 _ a0

oz~ “oax2 T ¢ veon
00D000000000D000000 fi —c2fee =00000 C%000 f
00200 C*-00 10000 F,GO0000 f(t,z) = F(z+ct)+G(x—ct)
00000000000000000
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(20150724) 48

4-10

000 fu=c’f., 00000000000 212000000000000°“0
00000000000 000 ® 00000 20000 2-1100
0000000 f(x,y,2) 0000 Af = foo+ fyy+ f-- 000000 AO
000D000000D00D0000 20000 2-13000000000

x = rcosfcosyp, y = rsinf cos p, z=rsingy

(r>0,—-r<0<m—-3<¢<3)

good
Te Ty T2 cos B cos p sin @ cos ¢ sin
_ _1sin@ 1 cosf
O 0y 0 - T COS ¢ T COoS ¢ 0
1 f 1 : 1
Yo Py Pz —scosfsing —:isinflsing :cosy

ooobooooooo

2 1
Af:frr‘i'*fr‘i‘ 2
T T

1 1
mfee + ijeocﬁ 2 tan o f,

0ooOoOoooooooo.
F(z,y) =2 —-4* 00000 F(z,y) =0000000 RP000000D0
000000000000000000000000000
0041200000000 C = {(z,y) € R*|F(z,y) =000 P = (x0,%0)
0000 F,#00000P 0000 COO000 y=¢(z) 0000000
0000000000000000

Py FooF2 — 2F, Fy Fy + Fyy F2

dw2 ¢ (z) =— F3 :
0000000 F,, 000 (z,9(z)) 000000000

00 ¢« 0000 F(z,y) = 2(2® —y?) — (2 +y*)? —a, C = {(z,y) €
R?|F(z,y) =0} 00000000 COOO0O0 y=¢(z) 00000000
000000000 ¢ 0000000000 CO0000000000000a
0000000000000000

R® 000 DOOODOOOO C®*00 30000 F(z,y,2) 000000
0 F(z,y,2) = 00000000000 P = (a,b,c) D000 F(P) =
F(a,b,c)=00000000000P 0000 F,, Fy, F, 0OOOOO 0
000000000000P 0000 F(z,y,2)=00 z,y, 2000000
000000000000000

Flz,y,2) =0 &  x=£(y2), y=n(zz), z=(zy)
O POODODO Flz,y,z)=000000000000

% My wy. Xy 2y = - Oudydz _ _
8y(y72) 82(2’:8) 8x(yvz)_ 1 0ooo 8y Oz O - 1

ooooooooooooo

25)0000000d Alembert, Jean Le Rond (1717-1783, F).



